= AH O
N = 0 &8 AF S & Al A
2M: AKX
HH: 2= I ENSA LeHAY - SAINY/RELEXNRX
CR: EXNRX 2s Jl (e dE)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
IPNE=DIn 2,495,082 1,544,342 950,740
Q= e EXNRA Lo (Y - SAING/RPHLEXNF X 2,415,040 1,253,200 1,161,840
)
EXNsX s &N 169,440 219,600 A50, 160
el #X MYEx =& 73,000 105,000 A32,000
202 OiH| 47,000 56,000 /9,000
03 =L L0t 47,000 56,000 29,000
OBHAAIE MEAIE =& 47,000
301 LEtEAS 6,000 19,000 A 13,000
07 212+o1=22]04 | 6,000 19,000 A 13,000
OMAA T HEAIY =X 6,000
307 QI2t0lA 20,000 30,000 A 10,000
04 QI2tSHALIE X 20,000 30,000 A 10,000
OMAAE HEAIY =& 20,000
ENsX s =& 96,440 114,600 A 18,160
201 LAY 37,840 31,000 6,840
01 AF222|H] 37,840 31,000 6,840
OEXNRX & 37,840
202 0OfHl 33,000 33,000 0
01 2| 33,000 33,000 0
OFEXNEX =& 33,000
203 YR=XH| 3,000 3,000 0
03 AIHFRHRF=EY| 3,000 3,000 0
OEXNFX 2H A2 LRE O 3,000
301 Yutg A= 22,600 22,600 0
10 SALAIHI B A Z 1,000 1,000 0
OXE22 3o AKX AHIEA 1,000
12 JIEtE &2 21,600 21,600 0
OEXNRX 2 =29 21,600
Metx™ D2EE Y 2,245,600 1,033,600 1,212,000
TR2ME YA 20,600 33,600 A 13,000
201 Yet2HH| 12,000 25,000 A 13,000
01 AFE2Zelbl 12,000 25,000 A 13,000
OEXNKX HSHS A U2 12,000
301 Yutg A= 5,000 5,000 0
08 QIBI=X 0] 5,000 5,000 0
ORXUa EXA =& 5,000
310 2201 3,600 3,600 0
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SN HH G (EH) - MBAY - BYS 01l &k o Soe s
02 =HRE3 3,600 3,600 0
AIUEL A HHA A3 3,600
MAH &g A4 |X X 1,225,000 1,000,000 225,000
306 £E¢= 1,225,000 1,000,000 225,000
01 &¢3 1,225,000 1,000,000 225,000
O23gA I20L AT 2ERR 1,225,000
22MY ENSX JIgtEH 1,000,000 0 1,000,000
207 ALY 1,000,000 0 1,000,000
01 A= SH| 1,000,000 0 1,000,000
Oot=sL MHE=2M A=A 1,000,000
HY2IZU (ARSI (IIEHIIE) 80,042 81,542 A 1,500
Qa2 A 60,882 60,882 0
S22 oAHdl XA 60,882 60,882 0
101 Q14| 60,882 60,882 0
02 JIet& 8= 60,882 60,882 0
os3(L3) 50,897,000& x1H 50,897
O&FAZAHI 130,000 x1H +12& 1,560
OAZIZEE 8,895& *35A[ 2tx 1+ 123 3,736
OItE &I 4,242,000 *70%+1/30*11 1,089
(OFSp=1EN] 250,000& x1H~12& 3,000
ouerg sl 50,0003 x1E«12& 600
Jl23| 19,160 20,660 21,500
FA2Y Jl=Z | 19,160 20,660 A 1,500
201 LBt 14,360 14,360 0
01 AR 22| 11,760 11,760 0
ORNE2ZE AtR22lH] 11,760
02 =234l 2,600 2,600 0
ORM2ZE 22294l 2,600
202 O4Hl 4,800 4,800 0
01 =Yl 4,800 4,800 0
ORAMEZ2ZE =UAHI 4,800




